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TEST 1 - Wektory

2011/2012, zima 1

1P. Wektor o długości 20 dodano do wektora o długości 25. 
Długość wektora będącego sumą wektorów może być 
równa:

A) zero    B) 3    C)  12     D) 47     E)  50

1A. A vector of magnitude 3 CANNOT be added to a vector of 
magnitude 4 so that the magnitude of the resultant is:

A) zero      B) 1        C) 3        D) 5            E) 7
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2P. Wektory       i      leżą na płaszczyźnie xy. Możemy 
wnosić, że              jeżeli:
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B)                                                          E)
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2A. A A vectorvector hashas a a magnitudemagnitude of 12. of 12. WhenWhen itsits tailtail isis atat thethe originorigin
itit lieslies betweenbetween thethe positivepositive x x axisaxis and and negativenegative y y axisaxis and and 
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makesmakes an an angleangle of 30of 30oo withwith thethe x x axisaxis. . ItsIts y y componentcomponent isis::

A)A) 66√3          B)√3          B)--6 √3   C) 6        D) 6 √3   C) 6        D) --6          E) 126          E) 12

3P.  Kąt pomiędzy wektorem                                  a 
dodatnim kierunkiem osi OX wynosi: 

A) 29o B) 61o C) 119o D) 151o E) 209o

jia ˆ)45(ˆ)25( mm +−=
r

3A. A A vectorvector hashas a a componentcomponent of 10 of 10 inin thethe +x +x directiondirection, a , a 
componentcomponent of 10 m of 10 m inin thethe +y +y directiondirection, and a , and a componentcomponent of of 
5 m 5 m inin thethe +z +z directiondirection. . TheThe magnitudemagnitude of of thisthis vectorvector isis::

A)A) zero B) 15 m C) 20 m D) 25 m E) 225 mzero B) 15 m C) 20 m D) 25 m E) 225 m
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A)A) zero      B) 15 m       C) 20 m       D) 25 m        E) 225 mzero      B) 15 m       C) 20 m       D) 25 m        E) 225 m
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4P. Dwa wektory, których początki się pokrywają, tworzą 
pewien kąt. Jeżeli kąt pomiędzy tymi wektorami 
zwiększy się o 20o to iloczyn skalarny tych dwóch 
wektorów zmienia znak na przeciwny. Kąt, który 
początkowo tworzyły te dwa wektory wynosi:

A) 0             B) 600 C) 70o D) 80o E) 900

4A. TwoTwo vectorsvectors havehave magnitudesmagnitudes of 10 and 15. of 10 and 15. TheThe angleangle
betweenbetween themthem whenwhen theythey areare drawndrawn withwith theirtheir tailstails atat thethe
same pointsame point isis 6565oo.. TheThe componentcomponent ofof thethe longerlonger vectorvector
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same point same point isis 6565 . . TheThe componentcomponent of of thethe longerlonger vectorvector
alongalong thethe lineline of of thethe shortershorter isis::

A)A) 00 B) 4.2             C) 6.3            D) 9.1          E) 14B) 4.2             C) 6.3            D) 9.1          E) 14

5P.  Dwa wektory                                                                  
wyznaczają jednoznacznie płaszczyznę. Który z 
wektorów jest prostopadły do tej płaszczyzny:

A)                                           D)

jia ˆ)2(ˆ)3( mm −=
r

kjib ˆ)2(ˆ)3(ˆ)2( mmm −+=
r

kji ˆ)13(ˆ)6(ˆ)4( mmm +−kji ˆ)13(ˆ)6(ˆ)4( mmm −+

B)                                             E)

C)

5A. TheThe resultresult of                                of                                isis:  :  )ˆˆ(ˆ kji ×o

kji ˆ)13(ˆ)6(ˆ)4( mmm ++

kji ˆ)13(ˆ)6(ˆ)4( mmm ++−

ji ˆ)6(ˆ)4( mm +
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A)A) zero       B) +1       C) zero       B) +1       C) --1       D) 3        E) 1       D) 3        E) √3√3


